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Table 1. Characteristics of Japanese male workers according to chronic low back pain

Characteristics Total With Chronic Low Back Without Chronic Low
Pain Back Pain
n 4,022 432 3,590
Age, years 47+ 10 49+9 47+ 10
Body mass index, kg/m? 23.8+3.2 243+3.6 23.8+3.1
Step counts, steps/day 10,326 + 10,125 £2,611 10,350 £2,610
2,611
Physical activity levels,
minutes/day
>3 METs 42.7+ 18.5 40.6 = 17.7 429+ 18.5
3-6 METs 399+17.3 38.3+16.1 40.1 £17.4
>6 METs 22+39 1.9+£55 2.2+3.7
Drinking (%)
No drinker 145 13.9 14.6
Drinker 85.5 86.1 85.4
Smoking (%)
No smoker 35.9 30.6 36.6
Current smoker 36.6 37.7 36.5
Past smoker 2715 31.7 27.0
Lifestyle-related diseases (%)
Hypertension 174 20.6 17.0
Dydlipidemia 8.9 9.7 8.8
Diabetes 5.4 8.1 5.1
People who have all three 1.0 12 0.9
above

Data are means + SD or %, METs=Metabolic equivalents.

Table 2. Characteristics of Japanese male workers according to physical activity (> 3 METS) levels

(quartiles)
Characteristic Q1 (lowest) Q> Qs Qa4 (highest)
n 1,007 1,006 1,010 999
Age, years 48 £10 47 +£10 46 £ 10 48 £10
Body mass index, kg/m? 24.1+3.5 23.8+3.0 23.8+3.1 23.7+3.1
Step counts, steps/day 8,026 + 1,837 9,564 + 1,565 10,703 £1,519 13,032 +2,423
Physical activity levels,
minutes/day
>3 METs 21.2+6.6 35.7+3.3 472+35 66.8+13.9
3-6 METs 20.0+ 6.3 33.6+3.8 443+47 61.8+13.6
>6METs 1.0+11 1.7+18 22+27 3.8+6.9
Drinking (%)
No drinker 159 139 14.2 14.1
Drinker 84.1 86.1 85.8 85.9
Smoking (%)
No smoker 31.1 35.9 38.0 38.7
Current smoker 41.7 379 35.3 314
Past smoker 27.2 26.2 26.6 29.8
Lifestyle-related diseases (%)
Hypertension 21.2 16.0 13.7 18.6
Dysdlipidemia 10.6 75 7.9 9.7
Diabetes 5.4 5.1 4.9 6.3
People who have all three 1.0 14 0.3
12
above

Data are means £SD or %, METs = Metabolic equivalents.
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Table 3. Cross-sectional associations of physical activity (> 3 METS) and step counts, and chronic low back
pain among Japanese male workers.

With fgg’”g Age-adjusted Multivariable! Multivariable?
n Chronic 100% odds ratio (95% odds ratio (95% odds ratio (95%
LBP Cl) Cl) cl)
men
Physical activity category
(Iow%lat) 1,007 122 121 1.00 (reference) 1.00 (reference) 1.00 (reference)
Q 1,006 110 109 0.91(0.69-1.20) 0.91(0.69-1.20) 0.92(0.70- 1.21)
Qs 1,010 115 114 0.97(0.74-1.27) 0.97(0.74- 1.28) 0.98 (0.74 - 1.28)
Qs 84 ) ) )
(highest) 999 85 0.67(0.50-0.90) 0.67(0.50-0.91)  0.68(0.51-0.92)
y P for 0.012 0.012 0.016
inearity
Step counts category
(Iow%l;t ) 1,007 116 115 1.00 (reference) 1.00 (reference) 1.00 (reference)
Q 1,004 114 113 1.01(0.77-1.33)  1.01(0.77-1.33)  1.02(0.77 - 1.34)
Qs 1,006 113 112 0.99(0.75-1.30) 0.98(0.75-1.30)  0.99(0.75- 1.31)
Qs 88 ) ) )
(highest) 1,005 89 0.75(0.56-1.00) 0.74(0.55-0.99)  0.75(0.56 - 1.01)
P for 0.082 0.069 0.095
linearity

1: Adjusted for age, hypertension, dydlipidemia, diabetes, drinking, and smoking.
2: Further adjusted for body mass index.

LBP = low back pain.

Cl = confidence interval.
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